
Circular hand saw
PKS 66 | 0 603 234 639

Table of Content

Spare parts list........................................................................................................................................................................................... 2

Illustration - Type........................................................................................................................................................................................4

Subject to technical alterations. No liability is accepted for printing errors |13 September
2023

Robert Bosch Power Tools GmbH
Max-Lang-Strasse 40-46
DE-70771 Leinfelden-Echterdingen
https://www.boschtoolservice.com



Circular hand saw | PKS 66 | 0 603 234 639 2

Spare parts list

Item Part Number Description Illustration Price Quantity Price Group

2 1 604 220 355 Field        110-120V 1 - 1

3/50 1 606 610 122 Fan 1 $2.00 * 1 13

6 1 600 703 025 Grommet        Ø9,6-Ø10,2x70 MM 1 - 1

7 1 611 035 005 Cable Clip 1 $1.32 * 1 11

9 1 601 110 130 Manufacturer's nameplate 1 - 1

13 2 600 905 032 Ball Bearing        7x19x6 1 $3.03 * 1 15

14 1 610 905 009 groove ball bearing        9x26x8 1 $16.12 * 1 27

16 1 604 336 042 Brush Holder 1 - 1

21 1 601 110 490 Manufacturer's nameplate 1 - 1

22 2 912 401 019 Tapping Screw        DIN7981-ST3,9x16-C-Z 1 $1.60 * 10 12

24 1 605 510 157 Protective Cover 1 - 1

25 1 608 640 086 Circular Saw Blade 1 - 1

26 1 605 808 065 Bearing Flange 1 - 1

27 1 600 221 003 Intermediate Ring 1 $1.32 * 1 11

28 2 603 410 001 Socket head cap screw        M3x6,5-4.8 1 $1.32 * 2 11

29 1 600 591 007 Air-Deflector Ring 1 - 1

31 1 605 500 136 Sealing cap        BLUE 1 - 1

32 1 600 502 011 Intermediate Ring 1 - 1

33 2 917 780 150 Slotted Spring Pin        6x22 DIN7346 1 - 2

34 1 601 099 014 Cover Strip        BLUE 1 - 1

35 1 605 500 155 Handle Cover        BLUE 1 - 1

36 2 603 435 042 Thread-forming tap. Screw 1 $1.32 * 3 11

39 1 605 703 107 Conical Spring Washer 1 - 1

40 1 605 703 091 Clamping-Flange        Ø 12x30 MM 1 - 1

41 2 610 386 516 Torx Oval-Head Screw        M4x12 1 $1.32 * 4 11

43 2 916 650 020 Spring retaining ring        DIN 471-40x1,75-FST 1 - 1

44 1 603 414 007 Hex Socket Head Cap Screw        M6x14 MM 1 - 2

45 1 606 320 081 Cylindrical Gear        Z=41 1 - 1

47 1 604 649 001 Extension Spring 1 - 1

48 1 600 910 019 Nozzle Socket 1 - 1

50 1 600 309 011 Guide Bushing 1 - 1

51 1 608 000 105 Base Plate        170x382 MM 1 - 1

52 1 600 305 001 Rubber Buffer 1 - 1

53 1 600 309 012 Spacer Bushing 1 - 1

54 1 600 025 013 Riving Knife 1 - 1

* Prices shown are suggested retail prices

Subject to technical alterations. No liability is accepted for printing errors |13 September
2023

Robert Bosch Power Tools GmbH
Max-Lang-Strasse 40-46
DE-70771 Leinfelden-Echterdingen
https://www.boschtoolservice.com



Circular hand saw | PKS 66 | 0 603 234 639 3

Spare parts list

Item Part Number Description Illustration Price Quantity Price Group

55 1 603 339 005 Wing Nut        M6 1 $2.36 * 2 14

56 1 600 309 013 Spacer Bushing        Ø33xØ6,2xØ14,7 MM 1 - 1

57 1 603 434 005 Pan head screw        M6x170 MM 1 - 1

58 1 601 329 015 Adjusting Plate 1 - 1

60 1 601 110 058 Reference Plate        DOUBLE INSULATION 1 $1.32 * 1 11

62 1 608 040 112 Thrust Member 1 - 1

63 1 603 480 017 Wing Screw        M6 1 - 1

64 1 603 434 006 Round-Head Bolt        M6x35 MM 1 - 1

66 2 610 364 015 Hexagon Socket Screw Key        5 MM 1 $2.36 * 1 14

67 1 604 503 014 Suppressor Box 1 - 2

68 1 600 290 016 Rotary shaft lip seal 1 $1.60 * 1 12

69 1 600 300 092 Intermediate Ring 1 - 1

70 1 604 477 005 Blade terminal 1 $1.32 * 2 11

73 1 608 190 009 Miter Square 1 - 1

74 1 603 435 022 Thread-forming tap. Screw        TT M5x30 MM 1 - 4

75 1 601 110 128 Sticker        DOUBLE INSULATION 1 - 1

76 1 601 008 004 Insulating Plate 1 - 2

77 2 910 271 120 Pan head screw        DIN 923-M4x10-5.8 1 - 1

80 1 600 210 035 O-Ring        46,0x1,1 MM 1 - 1

650 2 608 005 036 Parallel-Guide 1 - 1

800 1 607 014 129 Carbon-Brush Set 1 $14.58 * 1 26

801 2 604 652 008 Spiral Spring 1 - 2

804 1 607 000 231 On-Off Switch 1 - 1

810 1 607 000 925 Handle Cover        BLUE 1 - 1

830 1 604 010 326 Armature        115V 1 - 1

835 1 604 460 092 Power supply cord        USA/CDN 2,15m 2 x
2,08mm SJ 14/2

1 $14.58 * 1 26

837 1 605 510 172 Pivoting Blade Guard 1 - 1

840 1 605 703 093 Clamping-Flange 1 - 1

846 1 607 000 225 Parts Set        Ø 12 MM, M6 1 - 1

859 1 607 000 197 Parts Set 1 - 1

872 1 607 000 222 Parts Set 1 - 1

878 1 607 000 205 Parts Set 1 - 1

888 1 601 11A 3H3 Nameplate 1 $1.60 * 1 12

* Prices shown are suggested retail prices

Subject to technical alterations. No liability is accepted for printing errors |13 September
2023

Robert Bosch Power Tools GmbH
Max-Lang-Strasse 40-46
DE-70771 Leinfelden-Echterdingen
https://www.boschtoolservice.com



Circular hand saw | PKS 66 | 0 603 234 639 4

Illustration - Type - E

Subject to technical alterations. No liability is accepted for printing errors |13 September 2023 Robert Bosch Power Tools GmbH
Max-Lang-Strasse 40-46
DE-70771 Leinfelden-Echterdingen
https://www.boschtoolservice.com


